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Does not leave over on the thirteenth — Ixawn 85wy whws

OVERVIEW

»aR reconciles the difference between our 71w» which is not concerned with n77)
77217 and the following mawn which is concerned with 7791 n2»3. Our mwn is
discussing when the 1172 took place on the thirteenth and the 7797 consumes
everything (therefore there is no concern); however the following mwn is
discussing the fourteenth where the 7177117 leaves over, therefore there is a concern.
Previously &7°1 "1 reconciled our mwn» which infers that if a 77971 is seen we are
concerned [because a 7771 leaves over bread] and the 71wn in MYIR where there is
no concern [because a 11777 consumes meat entirely].

The statements of X7°7 "7 and »2X seem to contradict each other.

1. According to X7 ", in our mwn the 77217 is 7wn bread, while according to *ax
(since the 7awn is 2"°2) the 777217 is X1WwWnH K.

2. According to ®7°1 "1 even by bread we are concerned only if we see the 7721
(the mawn states PWWIN 1°X), however according to *aX on 7" (when the 7777 is
X71»wn) we are concerned even if we do not see the 77211,

3. According to X7°T "1 when it is X71wn X7 (like meat) then even if we see (the 991)
we are not concerned; however according to X even when it is X7wn X7 (on ™),
we are concerned if we see the 77931, Our moown will reconcile these apparent
differences.

*
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The explanation of the phrase '®7»wn X% 2"™2' is that on occasion she does not
leave over (but consumes it entirely), and therefore where we do not see the

7791 dragging in yan we are not concerned -
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since even if she was 9713, there is an occasion where she leaves nothing over.
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However where we see that the 7727 was y1 777 into the house (even on 1">) we

" The X071 in our NN is XYL XY,

* The term w170 indicates that we are not to understand the terms literally. Here too the phrase 'x1™wn &' does not
mean that she never leaves over, but rather on occasion she does not leave over. This concept that X7»wn X2 means
that on occasion it is X7"wn X7 is the key to resolving the contradictions between *ax and &1 .

*Ttisa 790 (perhaps she ate it) that is P20 >7°n X*XW (that perhaps a 77217 was 17%).

4 po0 PR (of 7720 NP*IR) ORTY TR XXM (the 7791 11713 which we saw).
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are concerned, since occasionally she leaves over.
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However on the fourteenth she always leaves over and therefore even if we do

not see the 177211 N7°73 we are concerned that perhaps she will be 971 and not consume it

completely, thus allowing v to be found in our domain.
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And concerning meat even if we see a 17771 with meat we are not concerned for
by meat she never leaves anything over.
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And 2R can indeed coincide with X2 529,

SUMMARY

There are three categories concerning 77211 N7°73;

A. Bread on the thirteenth; sometimes 2*w»n and sometimes not 7»wn. Therefore, if
we see the 777217 N3, then we are wwm; if we do not see the 77911 n7"3, then X
IR7arals}

B. Bread on the fourteenth; always 7»wn. Therefore we are always wwin.

C. Meat; never 7wn, therefore never wwWIn.

THINKING IT OVER
Why did mpo1n deem it necessary to reconcile »ax with 811 '12°

> There is not even a oo (of 72°3K) that can be X*¥m from the P50 (of 7721 nA) since a 7791 definitely does not
consume the bread entirely on 7".

% See ‘Overview’ # 3.

7 Issue one: X7 7 and »ax both agree that by an> on 3"> sometimes X1wn and sometimes not. X7 'Y emphasized the
X7™wn to explain why if we see 1°w>n, and »aR emphasized the X7wn K7 to explain why if we did not see then X?
1w,

Issue two: X7 " is discussing our 71wn (3"'2) when sometimes X71wn therefore if we do not see PwWwIT PX; MR
explains the other 71w» when it is always X7"wn, therefore 1wwn even if we do not see.

Issue three: X7°1 " is discussing meat when it is never X7°wn therefore there is no wwm; »ax is discussing bread (on
3"%) where it is only sometimes X71wn XY therefore if we see we are wwn.

¥ See wn MK
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